R — T —RURITER T B BieR L EmAR I

SN RT 1350%/750%850/1000 m/m e =

%’%‘Fﬁ-
= % (==
=—

,,/
= . %

=——
= =

=
58/
—
TT—‘.%.*%_‘!‘/‘A‘-@' :
=

37 BB K BF -
FE B 5] KRR e oK

000 || .
®) Bl
RNE=rany B

O

N———RHAD 11 —

00 ©d 00 Mot
X B HEF X A
0 ) Y& K K & R
M KB | BF M OB BB BA B

| EiRER REE 1S B WO
o miREE T 1.0 JER.

3P REE 1.0 SR RIS RS R RTE
A BRI | SN BT R BT

S BIER AT AR |

A

7 RS BEBIRRE FRAREO T A BT | BRI R
SRLEREE 16 20,2 7 Th.

S, Figi®/BTU195700 .

10 WlsEsm 4 R

10, P et

11 BURRT 1 350K 470 . st Mmanmt s |




